Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

‘ ent‘e between custom design and semicustom demgﬁ,i\ (04 Marks)
ircuit views and levels of abstraction with the hs,ip\ ofY-chart. (06 Marks)
Ou nd algorithm. With the help of an examplq expiam the algorithm.

Write the dif
Briefly explair
Write branch a

- (10 Marks)
Write the conditio for a\ perfect graph. with the help of an example explain perfect graph.
< (04 Marks)
What is ITE operator‘7 Wme‘the ROBDD for the functlon ac\# be using ITE operator.

(06 Marks)

Find the longest path in the grap}l shown in Fig. Q2 (c ‘us ng Bellman-Ford algorithm.
(10 Marks)

Y7 Fig Q2

erte the VHDL code for a finite state. machme that recognizes two or more consecutive
X 4 N (06 Marks)
Explain various types of data ﬂow\b‘@s’gd transfgfmatlons. (14 Marks)

Consider the function f = ab +ac #+a . Write the cox{ of the function and check whether the
functnon is tautology or not/ ,f;\’ $

(/=ac+ad+bc+bd+e
u:c—]c+q5+qc
v=ad+bd +cd+ae
W=V
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Write the logic network for the equations. Apply the transformations like elimination,

decomposition, extraction and simplification, substitution and write the final logic network.
(14 Marks)
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‘ -rule based systems for logic optimization.

Briefly explagi !aJ:gout detection of false paths.

For the FSM“sh:

Explain the Adhoc testing.

Explain the terms LUT FPGAs and ani':lfuse ba

Test Access Port. (TAP)
BIST architecture.
Tree based covermg

* 3k k k ok

20f2

n in Fig. Q6 (c), obtain the minimum state dlagr

(06 Marks)
(08 Marks)

(05 Marks)
(07 Marks)

(10 Marks)
(10 Marks)

(20 Marks)




